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1.

The scatter graph shows some information about § cars.
For each car it shows the engine size, in litres, and the distance, in kilometres, the car travels on one
litre of petrol.
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(a) What type of correlation does the scatter graph show?
PRGN
A different car of the same type has an engine size of 2.5 litres.
(b) Estimate the distance travelled on one litre of petrol by this car.
“ ...................... kilometres

(3 marks)
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The scatter graph shows information about the height and the arm length of each of 8 students in
Year 11.
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(a) What type of correlation does this scatter graph show?

A different student in Year 11 has a height of 148 cm.

(b) Estimate the arm length of this student.

(3 marks)
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The scatter graph shows information about 10 apartments in a city.

The graph shows the distance from the city centre and the monthly rent of each apartment.
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The table shows the distance from the city centre and the monthly rent for two other apartments.

Distance from the city centre (km) 2 3.1
Monthly rent (£) 250 190
(a) On the scatter graph, plot the information from the table.
0y
(b) Describe the relationship between the distance from the city centre and the monthly rent.
..... neqative. correlgtion , 4% distance inereases the. ..
.................. MO renY | QeLYeadeS
¢y
An apartment is 2.8 km from the city centre.
(c) Find an estimate for the monthly rent for this apartment.
£ e 20
@)
(4 marks)
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4. The scatter graph shows information about the height and the weight for nine students.
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The table shows the height and the weight for three more students.
Height in cm 135 155 170
Weight in kg 70 H 85
(a) On the scatter graph, plot the information from the table.
(0]
(b) What type of correlation does this scatter graph show?
postve
@
(c) The weight of another student is 80 kg.
Estimate the height of this student.
........... | 58cm
2
(4 marks)
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On a particular day, a scientist recorded the air temperature at 8 different heights above sea level.
The scatter diagram shows the air temperature, y °C, at each of these heights, x km, above sea level.
Air temperature at different heights above sea level
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(a) Using the scatter diagram, write down the air temperature recorded at a height of 2.5 km above
sea level. -

(c) Find an estimate of the height above sea level when the air temperature is 0 °C.

...... 1-56 km

(2)
(4 marks)
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6.  Some students took a mathematics test and a science test.
The scatter graph shows information about the test marks of eight students.
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The table shows the test marks of four more students.

Mark in mathematics test 14 25 50 58
Mark in science test 21 23 38 51

(a) On the scatter graph, plot the information from the table.
(2)
(b) Describe the correlation between the marks in the mathematics test and the marks in the science
test.

positve

@
Josef was absent for the mathematics test but his mark in the science test was 45
(c) Estimate Josef’s mark in the mathematics test.
(2)
(5 marks)
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The scatter graph shows the maths mark and the art mark for each of 15 students.
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(a) What type of correlation does this scatter graph show?

(1)
SRR 1 - L 1L ——
(b) Draw a line of best fit on the scatter graph.
(1)
Sarah has not got a maths mark.
Her art mark is 23
(c) Use your line of best fit to estimate a maths mark for Sarah.
(1)
(3 marks)

The Maths Society



